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QUESTION NO: 1

Which two statements about EVX events are true? (Choose two.)

A. Developers can define custom listeners for out-of-the-box events.
B. EVX files map events to listeners.

C. Event handlers and event raisers execute in separate transactions.
D. Event filters handlers can be defined in the same class.

E. EVX events implement the Strategy pattern.

ANSWER: D E

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SS8S5A_7.0.9/ com.ibm.curam.content.doc/ServerDeveloper/
r SERDEV_Handlers1EventHandlerRegistration1.html

QUESTION NO: 2

Which two of the following are stored in the datamanager_config.xml file? (Choose two.)
A. Database table names used by the application.

B. Database type and port numbers.

C. References to folders containing DMX files.

D. References to SQL scripts to be run on a build.

E. References to CTX files containing code tables to be inserted on a build.

ANSWER: B D

Explanation:

Reference: https://www.google.com/url?
sa=t&rct=j&q=&esrc=s&source=web&cd=6&ved=2ahUKEw;ji4fWqqlbnAhXEzIUKHYelDIsQFjAFeg
QIBRAC&url=ftp%3A%2F %2Fftp.support.lotus.com%2F software%2F solutions%2F curam%
2F6.0.5.5.3%2Fen%2F pdf%
2FCuramServerDeveloperGuide.pdf&usg=AOvVaw3ySuCgvFqEPA_Tw8NTC6gw
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QUESTION NO: 3

Examine this fragment of UIM code:

<l--Show an image within the cluster -->
<CLUSTER TITLE="Cluster.Title.Description”>

<IMAGE LABEL="Image.Label.Logo” IMAGE="Curamlogo.jpg” />
</CLUSTER>

Which two statements about the UIM code are true? (Choose two.)

A. Curamlogo.jpg corresponds to the name of an image file under the WebContent/Images directory.
B. There can be no other UIM elements declared inside the CLUSTER.

C. The IMAGE attribute can be specified as part of the CLUSTER element.

D. The text associated with Image.Label.Logo is used as text for the image.

E. A build client will fail because the IMAGE element should be declared inside a CONTAINER.

ANSWER: AC

QUESTION NO: 4

The following ACTION_SET is defined at the page level in a UIM file:

<ACTION_SET ALIGNMENT="CENTER">

<ACTION_CONTROL IMAGE="SaveButton” LABEL="ActionControl.Label.Save”
Type="SUBMIT">

</ACTION_CONTROL>

<SEPARATOR/>

<ACTION_CONTROL IMAGE="CancelButton” LABEL="ActionControl.Label.Edit">
</ACTION_CONTROL>
</ACTION_SET>

What is the output from this UIM fragment?
A. A page drop-down menu that contains two menu items and one separator.
B. Two buttons that display beside each other next to the page title.

C. Two button that display beside each other below the page title bar.
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D. A page drop-down menu that contains two menu items and no separate.
ANSWER: B

QUESTION NO: 5

Which two statements about port-processing informational messages are true? (Choose two.)
A. The INFORMATIONAL element is used to display the messages.

B. failOperation() is called to return the messages.

C. Messages can be logged using the setLoggable method.

D. Messages are added with type InformationalElement.InformationType.kError.

E. Informational messages must be converted to a list of structs before they are returned to the client.

ANSWER: AB

Explanation:
Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.0/

com.ibm.curam.content.doc/WebClientReference/r_ WEBCREF_Reference1lnformational1.html

QUESTION NO: 6

Consider the entity and struct shown in the model:

wentityn = ustructs
() sampleEntityOne | sampleStructi
Ly wkeyy attributel : SAMPLE_DOMAIN1 g uwdefaults attribute2 : SAMPLE_DOMAINZ

a twdetails» attribute? : SAMPLE_DOMAIN2
adetails» attribute3 : SAMPLE_DOMAINI
winserts insert ()

aread» read ()
amodifyr modify ()

o 2

"I; areadmulti» readyByAttribute ( input : SampleStructl )

What is the correct way to model the input parameter for a facade operation that calls readyByAttribute?

A. Type=SampleEntity1, Shadow Type=Key
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B. Type=SampleStruct1, Shadow Type=unspecified
C. Type=SampleStruct1, Shadow Type=Key

D. Type=SampleEntity1, Shadow Type=unspecified
ANSWER: A

QUESTION NO: 7

Consider this warning in the source code editor when EmployerFactory is referenced:

“Discouraged access: The type EmployerFactory is not accessible due to restriction on required library
EJBServer/components/core/lib/core.jar.”

Which annotation is EmployerFactory declared with?
A. @AccessLevel(DEPRECATED)

B. @AccessLevel(INTERNAL)

C. @AccessLevel(EXTERNAL)

D. @AccessLevel(RESTRICTED)
ANSWER: D

QUESTION NO: 8

Which two values are valid for he MODE attribute of the MENU element? (Choose two.)
A. EXPANDABLE

B. IN_PAGE_NAVIGATION

C. TRUE

D. FALSE

E. WIZARD_PROGRESS_BAR

ANSWER: CD

QUESTION NO: 9

Which documentation resource provides a list of configurable validation messages?
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A. IBM Cuaram Server Developer’s Guide.
B. JavaDoc.
C. Analysis Documentation.

D. IBM Cuaram Development Compliancy Guide.
ANSWER: A

QUESTION NO: 10

How is the menu option button in this image created?

Communications @ 5 @

Communication

Status Date Status

Subject Type Name

A. A PAGE-level ACTION_SET with more than 2 ACTION_CONTROLs is added.

B. A PAGE-level ACTION_SET with 1 ACTION_CONTROL containing a LINK element is added.
C. A LIST-level ACTION_SET with 1 ACTION_CONTROL containing a LINK element is added.
D. A LIST-level ACTION_SET with more than 2 ACTION_CONTROLSs is added.

ANSWER: C
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